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Module - I

Draw and explain the basic structure of the resistive - load inverter crrcuit
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Explain the operation of MOS with external bias

Obtain the basic current-voltage characteristics of an n-channelMOSFET.
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Digital VLSI Design

'l'ime: 3 hrs. Max. Marks: l0()

Note: l. Answer my FIW full questions, choosing ONE full question Jiortt eoch module.
2. M : Marks, L: Bloom's level , C: Course outcon es,
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Write the equations of Vou, Vol and Vrr tiom the typical voltage transfbr
characteristics of resistive load inverter.

Calculate intereonnect delay using
i) RC Delay model
ii) The Elmore delay.
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Prove that depletion type nMOS transistor over come
power dissipation when connected load.
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Find the value of r;o1r aod rrise of a tyrrcal inverter.
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Modulc - 3

Summarize the characteristics of menrory devices.

b. i Explain the four transistor DRAM cell rvith trvo storage nodes.

] Explain the circuit topology 01'the CMOS SRAM cell.

OR
Explain a three-transistor DRAM cell with the pull up

] circuitry
L

Draw and explain a 4-hit x 4-bit NAND basecl ROM array
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Module * 4
storage and charge leakage process nMOS
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b. r lmplement the function f = @-,rf ,[-. + qpJ using dynarnic CMOS logic

gate.

i) Resistive base puf down
ii) Active base pull down.
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II process and operating conditions.

h. i Explain the per fbrmatice tnodeling procedure.
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